THESE DOORS ARE RATED FOR LARGE MISSILE IMPACT.

INSTALLATION OF THIS SYSTEM OUTSIDE THE HVHZ AREA SHALL MEET
THE APPLICABLE REQUIREMENTS FOR WIND BORNE DEBRIS PROTECTION.

STANDARD
ALUMINUM OUT-SWING ENTRANCE DOOR

SEE SHEET 2 FOR DESIGN LOAD CAPACITY OF SINGLE AND
DOUBLE DOORS.

DOORS NOT APPROVED FOR INSTALLATIONS WHERE WATER
INFILTRATION RESISTANCE IS REQUIRED.

THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE
REQUIREMENTS OF THE 2017 (6TH EDITION)/2020 (7TH EDITION) FLORIDA
BUILDING CODE FOR NON HIGH VELOCITY HURRICANE ZONE.

1BY OR 2BY WOOD BUCKS & BUCK FASTENERS BY OTHERS, MUST BE
DESIGNED AND INSTALLED ADEQUATELY TO TRANSFER APPLIED PRODUCT LOADS
TO THE BUILDING STRUCTURE.

ANCHORS SHALL BE CORROSION RESISTANT, SPACED AS SHOWN ON DETAILS
AND INSTALLED PER MANUF'S INSTRUCTIONS. SPECIFIED EMBEDMENT TO BASE
MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO.

A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY.
ALL SHIMS TO BE HIGH IMPACT, NON—METALLIC AND NON-—-COMPRESSIBLE.

MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE

TUBELITE INC.

STANDARD ENTRANCE SERIES
ALUMINUM OUT-SWING DOOR

REQUIREMENTS OF THE 2017/2020 FLORIDA BLDG. CODE & ADOPTED STANDARDS.

THIS PRODUCT APPROVAL IS GENERIC AND DOES NOT PROVIDE INFORMATION
FOR A SITE SPECIFIC PROJECT, i.e. LIFE SAFETY OF THIS PRODUCT, ADEQUACY
OF STRUCTURE RECEIVING THIS PRODUCT AND SEALING AROUND OPENING FOR
WATER INFILTRATION RESISTANCE ETC.

CONDITIONS NOT SHOWN IN THIS DRAWING ARE TO BE ANALYZED SEPARATELY,
AND TO BE REVIEWED BY BUILDING OFFICIAL.

DESIGN LOADS SHOWN ARE BASED ON ‘ALLOWABLE STRESS DESIGN (ASD)'.

MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION
IN ACCORDANCE WITH SECTION 1708.9.3 OF FLORIDA BUILDING CODE.
LABELING TO COMPLY WITH SECTION 1709.9.2.

NOTE:

GLASS CAPACITIES ARE

BASED ON ASTM E1300-09 (3 SEC. GUSTS)
AND FLORIDA BUILDING COMMISSION
DECLARATORY STATEMENT DCAO5-DEC-219

Sealed: 12/16/20

A~ CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND
INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT EVALUATION
PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED
ON THIS DOCUMENT.

B~ THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF
ALTERED BY ANY MEANS.

C~ SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED
ENGINEER OR ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.)
FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED
ENGINEER TO THE P.E.D. ENGINEER SHALL SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

D— THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF
THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

f

COMP—ANL\19—-41F-TLI)

a

(C.AN. 3538)

FAX. (308) 2626978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173
TEL. (305) 264-8100

N.W., Suite G
Fax.

INC.

3056 Walker Ridge Dr.
Walker, Ml 49544
800—866-2227

Tel.

)('STANDARD ALUMINUM OUTSWING DOOR (LM.) | AL-FAROOQ CORPORATION
TUBELITE

UPDATED TO 2020 fBC

by Tdescription

FL #29696

nol date
A 08.05.20

(revisions:

05-10~19

<
Z
=
>
D
[
o

date
scale: —
chk. by:

drawing no.

19—41F
{sheet 1 of 15]




FRAME WIDTH
18"
, MAX.
6 1/2" MAX. A s
HEAD/SILL SILL
CORNERS
| | |
i
- M-
I
I
/ I
/ i
- |-
|
A uomging i
| |
© | ()
— - | 0T
[ I~
58 o ! |
5% e fome ||
S e OO0 ! ID RAIL
S2E & cuwg T :"VgiBHONAL
8%t g Y20 1%
AT R R [
gié s é QQ ° i;zé_ :
o0 O A R e O D, o
S o ww| |y T
o L H
! H
L8
—— ! - <=
=== ] B 3E
4 | N1
AN !
N
I
T ACTIVE N T
f | .
2| o
SURFACE APPLIED @ 2,8
FALSE MUNTINS : S
MAY BE USED NELS
e (&)
[fel
37 3/8” (MED. STILES)
34 3/8” (WIDE STILES)
D.L. OPG.
47 13/16"
= LEAF WIDTH
SINGLE DOORS LOAD CAPACITY - PSF
DOOR OPNG. DIMS. LEAF DIMS.
WIDTH | HEIGHT | WIDTH REGHT | EXT-(+) | INT.(=)
48" 96” |47-13/16"] 95-7/16" | 700 | 70.0
37-1/2" | 108" *| 37-5/16"| 107-7/16"| 66.0 | 66.0
GLASS D.L.0. FORMULAE: *
D.L.O. WIDTH = LEAF WIDTH — 10.438" (MEDIUM STILES)
= LEAF WIDTH — 13.438" (WIDE STILES)
D.L.O. HEIGHT = LEAF HEIGHT — 12.938”" (MEDIUM STILES)
= LEAF HEIGHT — 13.938” (WIDE STILES)
DOOR LEAF WIDTH (X DOORS) = FRAME WIDTH — 5.187” (STD. JAMBS)
= FRAME WIDTH — 1.687" (NARROW JAMBS) NOTE:

DOOR LEAF WIDTH (XX DOORS)

DOOR LEAF HEIGHT

[

FRAME HEIGHT — 1.3125” (NARROW HEAD)

53" (STD. JAMBS)

49-1/2" (NARROW JAMBS)

98 1/2” (STD. HEAD)

101" (STD. JAMBS)

97-1/2" (NARROW JAMBS)

TYPICAL ELEVATIONS

FRAME WIDTH — 5.375" (STD. JAMBS)
FRAME WIDTH — 1.875" (NARROW JAMBS)

FRAME HEIGHT — 3.062" (STD. HEAD)

FRAME WIDTH
HEAD ANCHORS 18"
., (6) AT STILE ENDS MAX
6 1/2" MAX. ” :
’/ A AT 4 O.C.-\ HEAD
HEAD/SILL [ SILL
CORNERS P ~.
| o
T J T 1' |s ¥ /»/
AN
N
—t \ .
AN
AN
© N
—~ -1 \ -
[a) A~~~ // \
< (S 7s] .
= o es N
= % = b o . //{ N
28 =
2 W NI
JE 4 > L %
& ® 1 7 o
/ N
/ T58
s 0 =S
-+ P N}
7
/
T ! ACTIVE T
o | .
L >
<C [
SURFACE APPLIED A = @
wpos || N5
MAY BE USED el S58
e
37 3/8” (MED. STILES) 37 3/8” (MED. STILES)
34 3/8” (WIDE STILES) 34 3/8" (WIDE STILES)
D.L. OPG. D.L. OPG.
47 13/16" 47 13/16"
LEAF WIDTH LEAF WIDTH
DOUBLE DOORS LOAD CAPACITY - PSF
DOOR OPNG. DIMS. LEAF DIMS. -
WIDTH | HEIGHT | WIDTH HEGHT | EXT-(+) | INT.(-)
96" 96” |47-13/16" 95-7/16" | 70.0 70.0
75" 108" *| 37-5/16" | 107-7/16"| 66.0 66.0

LIMIT THESE SIZES TO DOORS GLAZED WITH DOWSIL 995 ONLY.

GLASS CAPACITIES ARE

BASED ON ASTM E1300-09 (3 SEC. GUSTS)
AND FLORIDA BUILDING COMMISSION

DECLARATORY STATEMENT DCAO5-~DEC-219

Seal

ed:

a ™
f
C

|

COMP~ANL\19—41F-TLI)

(C.AN. 3538)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33473

TEL. (305) 264-8100

N.W., Suite G
Fax.

INC.

3056 Walker Ridge Dr.
Walker, MI 49544
Tel. 800-866~2227

TUBELITE

[ STANDARD ALUMINUM OUTSWING DOOR (LM..) |

by Tdescription

(nol date

1'—g"

date: 05-10-19 |(reVvisions:

&
™
~
-

P
[}
o
@

dr. by: TARIQ

chk. by:

drawing no.

19—-41F

(sheet 2 of 15]




3/4” MIN. TYP.
GLASS BITE

1/4" HEAT STREN'D. GLASS

.035” Interlayer
SentryGlas
By ‘Kuraray America, Inc.

TT /4" HEAT STREN'D. GLASS

x
Q
o
Led
f—
<
L
GLASS TYPE ‘C’
9/16” OVERALL LAM. GLASS
1/4” TEMP. GLASS
5/16" AR SPACE
1/4" HEAT STREN'D. GLASS
.035" Interlayer
SentryGlas
By 'Kurcrcy America, Inc.’
1/4” HEAT STREN'D. GLASS
a
e (20
=z |® 21
=@ e
O il
N L
" / ¥ I g Pl
7 i1
| Ll \
5 | )
g \
< N\ P 25
ALUMINUM ~ -

SPACER

GLASS TYPE 'Ci’
1-1/16" OVERALL INSUL. LAM. GLASS

GLAZING DETAILS
LEVEL 'C’ IMPACT

3/4" MIN. TYP.
GLASS BITE

1/4" HEAT STREN'D. GLASS

.090” Interlayer

SentryGlas

By ‘Kuraray America, Inc.’
OR

.075" interlayer

Saflex CP With PET Core
By 'Eastman Chemical Co.’

1/4" HEAT STREN'D. GLASS

EXTERIOR

~

GLASS TYPE ‘D’
9/16” OVERALL LAM. GLASS

3/16" TEMP. GLASS

5/16" AIR SPACE
1/4" HEAT STREN'D. GLASS

.090" Interlayer

SentryGlas

By ‘Kuraray America, Inc.’
OR

.075" Interlayer

Saflex CP With PET Core
By 'Eastman Chemical Co.

1/4" HEAT STREN’D. GLASS

o
FlE (20
z i 21
= . i . ~
:‘#g @ i ]! ? N
o RERIRLIS
VIR i Pl
7 I
( il \
! ! I
z |
£\ /
< AN P 25
~d /
ALUMINUM S —
SPACER

GLASS TYPE 'Di’

1-1/16" OVERALL INSUL. LAM. GLASS

3/4" MIN. TYP.
GLASS BITE

1/4" HEAT STREN'D. GLASS

.090" Interlayer

Saflex Clear And Color Glass
By 'Eastman Chemical Co.
OR

.090" Interlayer

SentryGlas
YBy ‘Kuraray America, Inc.’
OR

.075" Interlayer
Saflex CP With PET Core
By 'Eastman Chemical Co.’

1/4” HEAT STREN'D. GLASS

%
Q
&
]
—
=
L
GLASS TYPE ‘DI’
9/16" OVERALL LAM. GLASS
3/18" TEMP. GLASS
5/16" AIR SPACE
1/4” HEAT STREN'D. GLASS
Y .080" interlayer
Saflex Clear And Color Glass
By 'Eastman Chemical Co.’
OR
.090" Interlayer
SentryGlas
By ‘Kuraray America, Inc.’
OR
.075" Interlayer
Saflex CP With PET Core
By 'Eastman Chemical Co.’
1/4" HEAT STREN’D. GLASS
o
1 (20
= |® 22
= % RN ~
LS @ 1 !Il !’s AN
J|o itk
- ; i: 1: *: N {18
7 v e
| mi! 1 \
i :
o | !
2 /
& \
< N\ P 25
L e
ALUMINUM —
SPACER

GLASS TYPE ‘Dii’

1-1/16" OVERALL INSUL. LAM. GLASS

GLAZING DETAILS
LEVEL ‘D’ IMPACT

3/4” MIN. TYP.

3/4”7 MIN. TYP.
GLASS BITE

1/4" HEAT STREN’D. GLASS

.090" Interlayer

Saflex Clear And Color Glass
By 'Eastman Chemical Co.
OR

.090" Interlayer

SentryGlas

By ‘Kuraray America, Inc.
OR

.075" Intertayer

Saflex CP With PET Core
By 'Eastman Chemical Co.’

1/4” HEAT STREN'D. GLASS

SILICONE
DOWSIL 995

GLASS BITE

EXTERIOR

GLASS TYPE ‘D2’

9/16” OVERALL LAM. GLASS

3/16" TEMP. GLASS

5/16" AR SPACE
1/4" HEAT STREN'D. GLASS
.090" Interlayer
Saflex Clear And Color Glass
By 'Eastman Chemical Co.’
OR
.090” Interlayer
SentryGlas
By ‘Kuraray America, Inc.
OR
075" Interlayer
Saflex CP With PET Core
By 'Eastman Chemical Co.'
1/4" HEAT STREN'D. GLASS

SILICONE
DOWSIL 995

~ 23

o \

AN 25
/
Ny ~
ALUMINUM e

SPACER

N
— o
— -
™~
o

\ /

EXTERIOR

GLASS TYPE 'D2i’
1-1/16" OVERALL INSUL. LAM. GLASS

Sealed: 12/16/20

a
]
c

|

COMP—ANL\19-41F~—TL!)

(C.AN. 3538)

FAX. (305) 282-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

N.W., Suite G
Fax

INC.

TUBELITE

3056 Walker Ridge Dr.

Walker, Ml 49544
800-866-2227

Tel.

J[ STANDARD ALUMINUM OUTSWING DOOR (LM.) |

by [description

nol date

(revisions:

05~-10-19

date:
chk. by:

—
drawing no.

19—41F

{sheet 3 of 15




3/4” MIN. TYP.

GLASS BITE

1/4" HEAT STREN'D. GLASS

.180" Interlayer
SentryGlas
By ‘Kuraray America, Inc.

1/4” HEAT STREN'D. GLASS

EXTERIOR

GLASS TYPE ‘E’

11/16" OVERALL LAM. GLASS

1/4" HEAT STREN'D. GLASS

.180" Interlayer
SentryGlas
By ‘Kuraray America, Inc.’

1/4" HEAT STREN’D. GLASS

Q.
= = 20A
22
g o - ~
12 i A
S *[: ‘t: N\ {18
e i
[ gl \
z | |
& /
N
25
AN v

~

GLASS TYPE ‘El’
11/16" OVERALL LAM. GLASS

3/16” TEMP. GLASS
5/16" AR SPACE

1/4" HEAT STREN'D. GLASS

.180" Interlayer
SentryGlas
By ‘Kuraray America, Inc.’

1/4" HEAT STREN'D. GLASS

@ 22

3/4” MIN. TYP.
GLASS BITE

18
it i
/ SN
f 1 “ b \
e | |
e /
g \
AN 25
ALUMINUM S i
SPACER

GLASS TYPE ‘Eli’
1—-3/16" OVERALL INSUL. LAM. GLASS

GLAZING DETAILS
LEVEL 'E’ IMPACT

1/4” HEAT STREN'D. GLASS

177" Interlayer
Saflex CP With PET Core
By 'Eastman Chemical Co.’

1/4" HEAT STREN'D. GLASS

SILICONE
DOWSIL 995

3/4" MIN. TYP.
GLASS BITE

EXTERIOR

GLASS TYPE ‘EZ2’

11/16" OVERALL LAM. GLASS

3/16" TEMP. GLASS
5/16" AR SPACE

1/4" HEAT STREN'D. GLASS

L1777 Interlayer
Saflex CP With PET Core
By 'Eastman Chemical Co.’

1/4" HEAT STREN'D. GLASS

o SILICONE
Z1E (on DOWSIL 995
P aal
z w
= A?
s @ AN N ARN 23
RO
/ (R Jen
{ gt \
1L
g \
<\ P 25
N e
ALUMINUM -
SPACER

GLASS TYPE 'E2i’
1~3/16" OVERALL INSUL. LAM. GLASS

&
¥
)

COMP—ANL\19~41F-TLI)

(C.A.N. 3538)

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT

9360 SUNSET DRIVE, SUITE 220
MIAMI, FLORIDA 33473
TEL. (305) 264-8100

INC.
3056 Walker Ridge Dr. N.W., Suite G
Fax

Walker, Ml 49544
800—-866-2227

Tel.

TUBELITE

[ STANDARD ALUMINUM OUTSWING DOOR (LM.) | AL-FAROOQ CORPORATION

byTdescription

nol date

(revisions:

05-10-19

&
—
it
&
o
~
L]
P
5]
o
@

dr. by: TARIQ

date:
chk. by:

drawing no.

19—-41F

sheet 4 of 15




FRAME HEIGHT

7 -
.
PICAL ANCHORS TYPICAL ANCHORS 2
EDGE DIST. SEEICAL ANNCHORS EDGE DIST. ‘ My Sep o . EDGE DIST. “_U i
FOR SPACING FOR SPACING FOR SPACING /f\ m =
N
. . . !
% % CONCREZE 4 “ ¥ CONCRETE | - CONCRETE 4 @ 4 P = )
a7, ‘ . 3, KSI MIN. | - x - 3, KSI MIN. e 3KSEMIN. T N L S 51>
P . - . < ) . o ¢ L ) s < . < Lg 4 . - o (9 =
: i % - - . au P alZz
& i ' /(S an ’ il B = 8T
: = [—y Z
[ 5 N[ ({% i BT S 5 * §§ < g%
t Y o 0yl W a0 S RR-1 e
522 7 TN 522 S22, o8 8|°
oA Tio?® e g ;
5028 () 8225 | 5728 giy 3
s X L,_jz s é Lot =¢ o ° ¥
3 SE i fl S8 1 gsan
. - [ A . - I So
& | | ~ OEE" g
T @ = \ Qo QQ b
\@ N z \ o ggE §
2 @ T e z§ 8
© i Y ] <U3C e
= kzos8
oy
& =282 d
€Eas B
N
=
A 3 e
—— o '5
(@] wn
(&
[an] o
o =
= z %
o]
8 (o]
(9
1] =0 g’g
5 Zlzzwn N
I ST 9o
5 4 =7 L3
Q [ . (1} Q |
i T o = e_J
T 0 “ET3g
o' o Si-4= .
z N = g
% < SIMO v &
] S 0o X
1.4 — <C D o0 =
g OV 2 Uialls
o | S—"
) TTT .
i
& A
: |
m :
= i
: 000 2
&) ////////’ o
o
TR 3
lifl: P
: R glle
& ol Il olls
© :li 'Vl' I 'z
() ] = EE
@) :
. (24 p.
© ik
T
8l =
i = &s
©
@

=4
v
<
=
=
Ie)
e
©

date:
chk. by:

CONCREFE

S
< > 3000 PS§ MIN. * drawing no.
Y

19—-41F
[sheet 5 of 15]

TYPICAL ANCHORS
SEE ELEVS.
FOR SPACING

L EDGE DIST.

T 1




(‘:
TYPICAL ANCHORS QI
oLl g;i\ésm TYPICAL ANCHORS L L
EDGE DIST. SEE ELEVS. ¢ W TYP*CAléEPéNgL*gﬁSS m %
18Y FOR SPACING =P FOR SPACING METAL > ~a >
DI | WOOD BUCKS o 2 STRUCTURES (o e ) 2 el
., “ ne o/, S & EDGE DIST. 1/8" THK. [} F.B.C. APPR'D MULLION l =5 =@z
.t < . B ,om/ EN I} SEE SEPARATE APPROVAL /! b= YIS
EDGE . > 8 :i ;{ < E 3 (: %
— | . e : j oo i 1o [l28 38
&l 1] & H- | EKJ) L | e o= ! © ﬁ g 5?, ©
© © T © © : © © . « « Cap %
0 [ [se] [44 =
x 528 | R , s , Qgap
TSy TIoY . |T 4] aud
x hlZH e m}z._ 0 | B | 829
, ] SAMESS : S <o L X T OELE™Q
e THO . X Z . T L X Z : jiciig ™ @ x
3 <+ 2| > + <Y & Q@aog
w S35 n S0 e O3Lg g
a9
TYPICAL ANCHORS & 4 zg «
SEE ELEVS. L 2
FOR SPACING Lz 58
4583
zos o
Loz B
\—
; o
= g
WOOD BUCKS AND METAL STRUCTURE NOT BY ‘TUBELITE INC.' o =]
MUST SUSTAIN LOADS IMPOSED BY GLAZING SYSTEM 8 o
AND TRANSFER THEM TO THE BUILDING STRUCTURE. a g
2z .
= -
TYPICAL ANCHORS: SEE ELEV. FOR SPACING g o
1/4” DIA, TAPCON BY ‘ITW' (Fu=125 KSI, Fy=100 KSI) s S
(1/4” MAX. SHIMS) 2|z&2d N
= | - ()N
1/4" DIA. ULTRACON+ BY 'DEWALT' (Fu=164 KSI, Fy=148 KSI) % L s¥ g
(3/8" MAX. SHIMS) I E=s g
INTO 2BY WOOD BUCKS OR WOOD STRUCTURES 2> o
1-1/2" MIN. PENETRATION INTO WOOD (HEAD/JAMBS) 2|9 fx @
Z OO =
THRU 1BY BUCKS INTO CONC. OR MASONRY HlF™= e
1-1/4” MIN. EMBED INTO CONCRETE (HEAD/JAMBS) — <
1—-1/4" MIN. EMBED INTO MASONRY (JAMBS)
DIRECTLY INTO CONCRETE OR MASONRY
1—1/4" MIN. EMBED INTO CONCRETE (HEAD/SILL/JAMBS)
1-1/4” MIN. EMBED INTO MASONRY (JAMBS)
[l
1/4" DIA. TEKS OR SELF DRILLING SCREWS (GRADE 5 CRS) =
(3/8” MAX. SHIMS) =
INTO F.B.C. APPROVED MULLIONS %03
OR .
INTO 18 GA. METAL STUDS (Fy = 33 KSI MIN.) _"Q
CR oo
INTO METAL STRUCTURES (HEAD/SILL/JAMBS) o[
ALUMINUM: 1/8” THK. MIN. (6063—T5 MIN.) s
STEEL: 1/8” THK. MIN. (Fy = 36 KSI MIN.) WG e
. . . Yy . \\\
(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR PAINTED) QY »
|
TYPICAL EDGE_DISTANCE e ;‘)
INTO CONCRETE AND MASONRY = 2--1/2" MIN, RIS g
INTO WOOD STRUCTURE = 1" MIN. 3 -g j
INTO METAL STRUCTURE = 1/2" MIN. Sealed: 12/16/20 8| 8 5
) — L
WOOD AT HEAD OR JAMBS SG = 0.55 MIN. ealed: drawing  no.
CONCRETE AT HEAD, SILL OR JAMBS f'c = 3000 PSI MIN. 19—41F

C-90 HOLLOW/FILLED BLOCK AT JAMBS f'm = 2000 PS! MIN,.
/ FL #29696

[sheet 6 of 15)




1/4” OR 3/8" U 5
TYPICAL ANCHORS _MAX. SHIMS TYPICAL ANCHORS | - g
SEE ELEVS. SEE ANCHOR SEE ELEVS. m 5
TYPICAL ANCHORS FOR SPACING NOTES FOR SPACING p—
SEE ELEVS. @ el
FOR SPACING A & Sy
ACTIVE LEAF i Qr 13|3
e = =2
2 /| 1 he - EE -4
y = ; ‘ g5 lgls
§ : T e ——— N I B o 92%8l8
e N N G (N N & UL VA A AU PNV w ~
Y 3 el A . U R N = | T 1 ¥ W I A B agd %
— N “‘ o :} ’ - ; s m Qk [y
B —— & k g — —iH S OLEpo
o W | SU———— | L [ P — —d I = 0 3 UE‘S
T e T[N Y T "] i
S d D METAL A4 829
=8 ’ STRUCTURE . Ok © 8
2 /2 | i (e 5P ; Qapsd
o' v < =t
E o 5 g : ] g g
e sy &N
e\ E— i 1EER
NOE - \ &, ] 2
T &9 [T - [
© J (oo) = 45827
0@ EXTERIOR @0 E LN
D.L.O. <l ‘- — -
1BY e
LEAF WIDTH WOOD BUCK ~
1/4" OR 3/8" . s ©
MAX. SHIMS \\ SINGLE DOOR FRAME WIDTH 3/8" MAX. ] ©
SEE ANCHOR \ SHIM - =
NOTES HINGES 3 w
LOCK OPTIONS
SEE SHEET 9 SEE SHEETS = :
10 & 11 © =
TYPICAL ANCHORS = S
SEE ELEVS. P ooou
TFOR SPACING = o
S (@]
- TYPICAL ANCHORS - S
SEE ELEVS. =003
< @ LOCK OPTIONS @ FOR SPACING o - ZIZxw0 N
ot SEE SHEETS = NN
o INACTIVE LEAF 10 & 11 ACTIVE LEAF ) 2w
= —— Y == ©
S als W 7 v 7 2 B a5 §§ 2
b . // // =4 c b
8 .| : : - : Smgie
o - / | E = Do o <
. VA— | .7, pFmEe
14 P ——— A
j v — = H - .:? <. // I! I/ =) - o Moo ()
— B S ] Y E
AT / T™ITT < ¢
' e Ll
N q‘ /,_.\-\" T 1 3 < I—:
s 1O ; B
oz S | 2
x ne P N
88 3 = | A
. k | =
z< | v b e
. (9]
88| | 3
1 D.LO. @ 0 EXTERIOR t . o
. : >
E 1O
. LEAF WIDTH LEAF WIDTH | 1/4 or 3/8°|..
} . MAX. SHIMS v
1/4" OR 3/8 WOOD BUCK 7 SEE ANCHOR § ©
MAX. SHIMS DOUBLE DOOR FRAME WIDTH NOTES oo
SEE ANCHOR oo
NOTES HINGES uC
SEE SHEET 9 ol =
Sl vl o
Tlwll &
LRI
NI
ENglls]
Rl 0 hel 3]
Sealed: 12/16/20 (‘drawing no.
FL #29696 (sheet 7 of 15)




VON DUPRIN #KR9954 OR 9954
REMOVABLE MULLION

OPTIONAL

SEE DETAIL AT RIGHT.

LEAF WIDTH

LEAF WIDTH

(4) 1/4” X 1=1/4" FH MS

=

VON DUPRIN #KR9954
REMOVABLE MULLION

OPTIONAL

(USE ONLY WITH RIM EXIT DEVICE)

STRIKEPLATE -
#229

&

/

e

5/16" DIA. THRU BOLT
W/ WASHER & NUT

(4) 1/4" DA,
TAPCON/ULTRACON+
1-3/4" MIN, CONC. EMBED
AT 27 0.C. MIN.

i

BOTTOM FITTING

a
f
C

|

COMP—ANL\19-41F~TLI)

(C.AN. 3538)

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33473
TEL. (305) 264-8100

|

N.W., Suite G
Fax.

INC.

3056 Walker Ridge Dr.
Walker, Ml 49544
800—866-2227

Tel.

TUBELITE

|

)[STANDARD ALUMINUM OUTSWING DOOR (L.M.L.) ] AL-FAROOQ CORPORATION

by Tdescription

(revisions:
no| date

- 1"

05-10-19

©
~
L}
P
]
o
@

dr. byt TARIQ

date:
chk. by:

Y
drawing no.

19—-41F
sheet 8 of 15)




HINGE OPTIONS:
OPTION #1:

4—1/2" LONG FLUSH MOUNT STEEL BUTT HINGES
‘BB1191° BY ‘HAGER’ OR

"ABH-663" BY ‘ABH MANUFACTURING INC.'

FASTENED WITH 12-20 X 1/2” FH MACHINE SCREWS
FOUR PER HASP(LEAF).

TOP AND BOTTOM HINGES AT 5-1/2" FROM ENDS
INTERMEDIATE HINGES AT 32" 0.C. MAX.

1" X 7-3/8" X 1/4” THK. ALUM BACK PLATE
AT FRAME AND LEAF
FASTENED WITH (4) #12-20 X 1/2” FH MACHINE SCREWS

OPTION #2:

CONTINUOUS GEAR ALUMINUM ROTON HINGE

‘SL 1T1HD’ BY ‘SELECT

‘780" BY ‘HAGER’

‘KCFM—95HD1" BY ‘PEMKO’

‘A110HD’ BY ‘ABH’

FASTENED TO FRAME JAMB AND TO JAMB STILE WITH
#12-24 X 7/18” FH MS SCREWS

IN PAIRS AT 2", 4" AND 6" FROM TOP AND BOTTOM ENDS
AND IN SINGLE ROW AT 10" 0.C. THEREAFTER.

OPTION #3:

OFFSET PIVOT HINGES
‘P795DT/IL/DB’ BY ‘TUBELITE’
'180/M19/147" BY ‘RIXON’

TOP AND BOTTOM HINGES
FASTENED TO FRAME AND LEAF WITH
(4) 1/4-20 X 5/8” FH MACHINE SCREWS

TOP SHIM ‘C’ CHANNEL
(11/16" X 1-1/2" X 6-1/2" LONG X 1/8” FLANGE THK. X 1/4" WEB THK.)
FASTENED WITH (2) 1/4-20 X 1-1/2" FH MACHINE SCREWS

BOTTOM SHIM ‘C’ CHANNEL
(1-1/4" X 1-1/2" X 9-1/2" LONG X 1/8" FLANGE THK. X 1/4" WEB THK.)
FASTENED WITH (2) 1/4-20 X 1—1/2" FH MACHINE SCREWS

INTERMEDIATE HINGES AT 35" 0.C.
FASTENED TO FRAME AND LEAF WITH
(5) 1/4-20 X 5/8” FH MACHINE SCREWS

1" X 7-3/8" X 1/4” THK. ALUM BACK PLATE
AT FRAME AND LEAF
FASTENED WITH (4) #12-20 X 1/2” FH MACHINE SCREWS

a
(C.A.N. 3538) fc
COMP—ANL\19~41F—TLI)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

N.W., Suite G
Fax.

INC.

3056 Walker Ridge Dr.
Walker, Ml 49544
800~-866-2227

Tel.

TUBELITE

J((STANDARD ALUMINUM OUTSWING DOOR (LM..) )

by [description

(revisions:
no| date

05-10-19

o
g
=
=
a
o
©

date:
scale: —
chk. by:

e
drawing no.

19—41F




LOCK OPTIONS:

3 POINT LOCK

MAX. LEAF HEIGHT = 96 IN. MAX. LEAF HEIGHT = 108 IN.
MAX. LEAF WIDTH = 48 IN. MAX. LEAF WIDTH = 37-1/2 IN.
MAX. DESIGN LOAD = 70 PSF MAX. DESIGN LOAD = 66 PSF
ACTIVE LEAF:

KEY OPERATED THREE POINT LOCK SYSTEM
‘MS1853A/4015/4016" AND ‘MS1850S/4015/4016' BY 'ADAMS RITE'
WITH CONCEALED FLUSH BOLTS AT TOP &

BOTTOM OF LOCK STILE AND A THUMB TURN ON THE

INTERIOR, LOCATED AT 40” FROM BOTTOM OF PANEL

FASTENED WITH

(2) #12-24 X 1/2” FH MACHINE SCREWS

INACTIVE LEAF:

MANUALLY OPERATED TWO POINT LOCK SYSTEM
‘MS1881° AND ‘MS2180° BY ‘ADAMS RITE’

WITH CONCEALED FLUSH BOLTS AT TOP &

BOTTOM OF LOCK STILE AND A THUMB TURN ON THE
INTERIOR, LOCATED AT 40" FROM BOTTOM OF PANEL
FASTENED WITH

(2) #8-32 X 1/4” PH MACHINE SCREWS

o il
/i ZHaN
/o AL
/ ! / i AN
/ / 5\
: 7l 2
a7l A 11} BN
7 | ‘ 118
74 | i
i i
N _é \ _@ /
AN N\ /
Nt SR
N N
acve | | mactive N\ I/ active
- hY/d
BOLT GUIDE/
ADAMS RITE ADAMS RITE BOLT GUIDE
2 _POINT S _POINT

LOCK LOCK

LOCK OPTIONS:

RIM PANIC EXIT DEVICES

PANIC EXIT DEVICE

MAX. LEAF HEIGHT = 96 IN.
MAX. LEAF WIDTH = 42 IN.
MAX. DESIGN LOAD = 50 PSF

ACTIVE LEAF:

RIM PANIC EXIT DEVICE
‘98/99XP’ BY ‘VON DUPRIN'
‘33A/35A° BY ‘VON DUPRIN’
‘FL3790" BY ‘FIRST CHOICE’

‘WS AD8500 BY 'SARGENT’

LOCATED AT 40" FROM BOTTOM
FASTENED TO ACTIVE LEAF WITH WITH
(6) 10-24 X 1-1/8" PH MS

/ 1 EIN
/ / \
/ / AN
/ / . PN
E;\K.:::: @ méi::::@@ﬂ::::}é]}
AN N /
AN AN /
ACTWVE N\ actve NI acTive
A 74
REMOVABLE
MULLION

‘KR9954" OR '9954
BY ‘VON DUPRIN'

~

N
d
WV |
()] &
\____..____/‘f
"\mm
[*e] -
-1
=5 =@z
=4 8T
<z 3%
Eoocd|d
°mg ale
Loy %
el g
0L3pe
O34l
pud
0023
e 8
OILngﬁ
O3LE 3
E229 «
G uUusSh g
u%(ﬂ_:c
P =08 @
o G0
BN
5o i
| —
TN
—
= &)
= 2
[a'ed 3
S %)
S
o e
o =
=z %
o
7 B
‘5 [
o 9
=losd
Z|Zxwn g
S =_.94
e N
BLLJG) i
<l—:¥*_£
o= 3
2id= .
<|W 58
%mgém
<Doo$
Sl ™m= 2
L
—
ol
4
bdemd
=
L.
Q
73]
Q
<
>
fo]
”
chio
Ol
2io
>
[33{[e]
w=ie
ol
i
o o
1 %
|| 7
.. s |2 2
Q - .
© o e E
o 0 o 3]

drawing no.

19—-41F
[sheet 10 of 15)




LOCK OPTIONS:

CVR_PANIC EXIT DEVICES

OPTION #1:

PANIC EXIT DEVICE

MAX. LEAF HEIGHT = 96 IN.
MAX. LEAF WIDTH = 48 IN.
MAX. DESIGN LOAD = 70 PSF

ACTIV INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE

‘#2086 BY 'JACKSON PANIC SYSTEM’

‘3690FL’ BY ‘FIRST CHOICE’

LOCATED AT 41" FROM SILL AT EACH LEAF.

FASTENED WITH

(1) #14 X 17 HH SELF DRILLING SCREW AT ONE END AND
(2) #12-24 X 1/2" OH MACHINE SCREWS AT OTHER END

i Tt
/i N
/| 2 RN
/ ! / i N
/ | 72 [ {1 BERPPAN
/S f s : : 7\
S f 7
7 i i
M| i
\ ————— Ié ““““““““““ /3
Pzl |-
AN | N\ ik /
N AN 1}
acve \[| acTive \[ | f /" ACTIVE
N 1114

OPTION #2:

PANIC EXIT DEVICE

MAX. LEAF HEIGHT = 96 IN.
MAX. LEAF WIDTH = 48 IN.
MAX. DESIGN LOAD = 70 PSF

ACTIVE & | | AF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE

‘HH9947" BY 'VON DUPRIN’

LOCATED AT 40” FROM SILL AT EACH LEAF.

FASTENED WITH

(2) #10-32 X 3/4” FH MACHINE SCREWS AT ONE END AND
(2) #10-24 X 1/2" FH MACHINE SCREWS AT OTHER END

. M
Al VA 111N
/| VAR I 1IN
/ : / : E N\
| i

/ ///// : / jf/’ § : 7N\

- .
N\ N\

o _‘._:::ﬁé mt::i::__télé'.x::::;:v:n
N SO 1111
N Nl S
acve \[| actve |11/ acTive

— bV

OPTION #3:

PANIC EXIT DEVICE PANIC EXIT DEVICE

MAX. LEAF HEIGHT = 96 IN.
MAX. LEAF WIDTH = 48 IN.
MAX. DESIGN LOAD = 70 PSF MAX. DESIGN LOAD = 66 PSF

MAX. LEAF HEIGHT = 108 IN.

ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE

‘1690HH" BY ‘FALCON’

LOCATED AT 41" FROM SILL AT EACH LEAF.

FASTENED WITH

(1) #14 X 1”7 HH SELF DRILLING SCREW AT ONE END AND
(2) #12-24 X 1/2" OH MACHINE SCREWS AT OTHER END

MAX. LEAF WIDTH = 37-1/2 IN.

=
fJ
C

(C.AN. 3538) {
COMP—ANL\19-41F=TLI)

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT
2360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173
TEL. (305) 264-8100

N.W., Suite G
Fax.

INC.
3056 Walker Ridge Dr.

Walker, Ml 49544
Tel. 800—866-2227

[ STANDARD ALUMINUM OUTSWING DOOR (LM.1.) [ AL-FAROOQ CORPORATION
TUBELITE

by [description

nol date

date: (5-10-19 (reVISiOnS:

o
S
=
>
o
[
Q

scale: —
chk. by:

drawing no.

19—41F
[sheet 11015




ITEM # PART # REQD. DESCRIPTION MATERIAL MANF./SUPPLIER/REMARKS

1 E£34224 1 DOOR FRAME HEAD (STANDARD) 6063-T6 -

1A E4TB111 1 DOOR FRAME HEAD (NARROW) 6063-T6 -

1B E34125 1 DOOR FRAME HEAD (CONCEALED CLOSERS) 6063~T6 -

1C P4441 1 FRAME HEAD (CONCEALED CLOSERS) CORNER KEY 6063-T6 -

1D E£6504 1 HEAD (CONCEALED CLOSERS) DOOR STOP 6063-T6 -

1E E£2298 1 HEAD (CONCEALED CLOSERS) DOOR STOP COVER 606316 -

2 E34144 2 DOOR FRAME JAMB (STANDARD) 6063-T6 -

2A E4TB11 2 DOOR FRAME JAMB (NARROW) 6063-T6 -
E34242 2 JAMB SHEAR CLIP (STANDARD) 6063-T6 -

4 E3550 1 THRESHOLD 6063-T6 -

5 E0054 1/ LEAF |LEAF TOP RAIL (MEDIUM) 6063-T16 -

5A E0318 1/ LEAF |LEAF TOP RAIL (WIDE) 6063-T6 -

6 EO419 1/ LEAF |BOTTOM RAIL 6063-T6 -

BA £2682 1/ LEAF |BOTTOM RAIL 6063-T6 -

68 E£2669 1/ LEAF [BOTTOM RAIL 6063-T6 -

7 Eoose 1/ LEAF |LEAF HINGE/LOCK STILE (MEDIUM) 606316 -

7A E0416 1/ LEAF |LEAF HINGE/LOCK STILE (WIDE) 6063-T6 -

8 E0085 1/ LEAF |LEAF ALT. HINGE/LOCK STILE (MEDIUM) 6063-T6 -

BA E0415 1/ LEAF |LEAF ALT. HINGE/LOCK STILE (WIDE) 6063-T6 -

9 E0087 1/ LEAF |LEAF ACTIVE STILE (MEDIUM) 606316 -

SA E0417 1/ LEAF |LEAF ACTIVE STILE (WIDE) 606316 -

10 E£1150 1/ LEAF |LEAF INACTIVE STILE (MEDIUM) 6063-T6 -

10A E1151 1/ LEAF |LEAF INACTIVE STILE (WIDE) 6063-T6 -

I £3256 AS REQD. | MID RAIL 6063-T6 OPTIONAL

11A E3261 AS REQD. [MID RAIL 6063-T6 OPTIONAL

118 E£3258 AS REQD. |MID RAIL 6063-T6 OPTIONAL

11C £3262 AS REQD. |MID RAIL 6063~-T6 OPTIONAL

11D £3266 AS REQD. [MID RAIL 6063-T6 OPTIONAL

11E £3263 AS REQD. |MID RAIL 606316 OPTIONAL

11F E3265 AS REQD. [MID RAIL 6063-T6 OPTIONAL

12 E£6510 AS REQD. |DOOR STOP BASE (STANDARD) 6063-T6 -

12A E6500 AS REQD. |DOOR STOP BASE (NARROW) 6063-T6 -

13 E6505 AS REQD. |DOOR STOP (STANDARD) 6063-T6 -

13A E6501 AS REQD. |DOOR STOP (NARROW) 6063-T6 -

14 E1152 AS REQD. |ASTRAGAL W'STRIP ADAPTER 6063-T6 -

15 E6533 4/ LEAF |EXTERIOR GLASS STOP (LAM. GLASS) 6063-T6 -

16 E£6523 4/ LEAF |EXTERIOR GLASS STOP (INSUL. LAM. GLASS) 6063~-T6 -

17 £6532 4/ LEAF |INTERIOR GLASS STOP (DRY GASKET) 6063-T6 -

18 £6512 4/ LEAF |INTERIOR GLASS STOP (GLAZING TAPE) 6063-T6 -

19 £6522 4/ LEAF |INTERIOR GLASS STOP (SILICONE) 6063-~T6 -

20 P2908 4/ LEAF |EXTERIOR GLAZING GASKET (LEVEL D IMPACT) EPDM -

20A P2901 4/ LEAF |EXTERIOR GLAZING GASKET (LEVEL E IMPACT) EPDM -

21 PO017 4/ LEAF |INTERIOR GLAZING GASKET EPDM -

22 3M VHB 4/ LEAF |INTERIOR GLAZING TAPE (.080" X .750") FOAM -

23 P6552 4/ LEAF |INTERIOR SPACER TAPE FOAM -

25 P1g12 2/ LITE |SETTING BLOCK AT 6" FROM ENDS EPDM DURCMETER 8045 SHORE A

26 P6296 AS REQD. |FRAME HEAD/JAMB BULB W'STRIPPING VINYL -

27 P3450 AS REQD. |FRAME SILL BULB W'STRIPPING VINYL -

28 P938 AS REQD. |ASTRAGAL PILE W'STRIPPING WOOL ULTRAFAB

29 #10 X 5/8" AS REQD. |ASTRAGAL ADAPTER FASTENERS, AT 12" O.C. ST. STEEL |FH SELF DRILLING SCREWS

30 #10 X 1/2" AS REQD. |GLASS STOP FASTENERS, AT 2" FROM ENDS & 12" O.C. ST. STEEL |FH SELF DRILLING SCREWS

31 #12 X 1-1/2" AS REQD. |FRAME ASSEMBLY FASTENERS ST. STEEL | HH SELF DRILLING SCREWS

~

a

|

COMP—ANL\19—41F~TLI)

J['STANDARD ALUMINUM OUTSWING DOOR (LM.) |

(revisions:

date:

drawing no.

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

05-10-19

f
C

(C.A.N. 3538)

FAX. (305) 262-6978

N.W., Suite G
Fax.

INC.
3056 Walker Ridge Dr.

Walker, Ml 49544
800-866-2227

Tel.

TUBELITE

by description

nol dale

4"

)
N
%)
P
<]
I3}
@

dr. by: TARIQ

19-41F

e
[sheet 12 of 15)




L
1.250 —= 125
I

e .774L

EXTERIOR GLASS STOP
@ (INSUL. LAM. GLASS)

r 4.985 j 5.000 4.700
4.500 1.000 = 16*1.750*@1
T « “ b 125 R 3%4“”**1_“_&__4 i 01 |
%«'%fapo 'h 750
2.500 : 750 5500 125 : 1.356
| : 2.062 ! 1 iv
L ,JU)__f % b J L J 7
= 1.625~= 1.250 | ] 125 = = 093
]
=—1.992 1.000 125 TYP.—
@ FRAME HEAD (STANDARD) FRAME HEAD (NARROW) FRAME HEAD (CON. CLOSERS) @ HEAD (CONC. CL.) CORNER KEY DOOR STOP @ DOOR STOP COVER
r——2.500_~<> 50
»" ﬁ ~-1.625
=125 125
—e = 080
J ? ]
5.000 1.000 4.500 1.250 4.170 660 i
090 —= T
2.000 1.625 1.755
(. -
.173JX
@ FRAME JAMB (STANDARD) @ FRAME JAMB (NARROW) @ JAMB SHEAR CLIP
2.581—= 435 .497—<>[ o 707 500 —
B e - i T
Lmﬁfﬂjﬂj% | e 1“ 14
481 060 —==—  1.750 ' 1.305 062 .
075 1.8974
2504 ] o 4
. 110 [==] I —QJ L‘
4.969 - J 224
’ : 242 —=| —.476
@ FRAME SILL @ DOOR STOP BASE (STANDARD) @ DOOR STOP (STANDARD) @DOOR STOP BASE (NARROW) DOOR STOP (NARROW)
- [“641 .185»1 e 4195ﬂ>l I<~ .150»] I«
125 = 1.250 1.250 1.250
1.250 _>E,125 { i 125 i
i 379 e 379 ¢ 379
- | "L e "L
774 o 1.632 = - 1.632 ~-1.632
EXTERIOR GLASS STOP INTERIOR GLASS STOP INTERIOR GLASS STOP INTERIOR GLASS STOP
(LAM. GLASS) (DRY GASKET) (GLAZING TAPE) (SILICONE)

a N
f
C

(C.AN. 3538) I{
COMP—ANL\19~41F—TLI)

FAX. (305) 262-6978

ENGINEERS & PRODUCT DEVELOPMENT

D360 SUNSET DRIVE, SUITE 220
MIAMI, FLORIDA 33473
TEL. (305) 264-8100

NC.
N.W., Suite G
Fax.

3056 Walker Ridge Dr.
Walker, Ml 49544
Tel. 800-866—2227

|

TUBELITE

J('STANDARD ALUMINUM OUTSWING DOOR (LM1) |[ AL-FAROOQ CORPORATION

byTdescription

(revisions:
nol date

05-10—-19

scale: 3/8" = 1"
dr. by: TARIQ

chk. by:

date:

drawing no.

19—-41F

sheet 13 0of 15




— - =
~—1.750 = 1.750 — 3.893 ‘ 4.883 | = 1.750— == 1.750 — == 1.750— y QP
AT 125 125 1 k 3 | g m L
p—— n ) { ( ;
—of o125 ~t |- .125 {S T T SR
£ R
) ! 1.750 1.750 O 282|2
=
4.000 3.688 g
4000 | 157 ] T 187 2% 3 & %
5.000 —t 125 Ecocid|g
2.438 4.000 5.000 6.000 5.563 o d g alo
3.438 B 1 7.500 6.938 & E E é
x | | @ HINGE/LOCK STILE (MEDIUM) HINGE/LOCK STILE (WIDE) E— 0tap
— =125 QRud
L @ MID RAIL O’g 29
I 3.899 ‘ 4.899 f 43P 8
=)
125 125 2 1,750 — : 3 | BN gggg g
c ] - gz d
| [ P RAl i 53 PN
@ TOP RAIL (MEDIUM) TOP RAIL (WIDE) ) 7 2 ﬁ%i 2
1.937 1.750 1 1,037 1.750 t=cE @
MID RAIL ] gCq
hmso» h1.750~c> L @ &l gos E_'J
—ry S . “ / f ! =—1.750 — _— -
3.504 4.594 . 4.500 4.186 (19  MID RAIL
Z o
| I =—1.750 —= = o
150~ (= . = =
ALT. HINGE/LOCK STILE (MEDIUM) @ ALT. HINGE/LOCK STILE (WIDE) : . =
(@]
4.938 e foe Q X
150 4.000 ‘ 5.000 : ‘ ol =
(€] .
6.500 125 125 =Z z
i | P J @ MID RAIL 6.500 5.938 = Lo
’% T % 2 s
8.438 3 "
- 1.150 1,750 =—1.750 —= =
. 7 ] Z 'CE e ™~
et i ] O — e f— 125 % e o @ §
=125 Fwe_
3.844 4.844 < = % = §
o d=
S 10.000 9438 Z W o33
@ ACTIVE STILE (MEDIUM) @ ACTIVE STILE (WIDE) Smpx®
5.000 4.688 2993
@ BOTTOM RAIL MID RAIL SlFm= 2
3.964 4.964 125 -
125 125 )
1.750
[‘_ a’ i ~= |-, 125 - L = G L =
. 1.750 1.750 S s
e 125 c
™ L, o ) =
BOTTOM RAIL MID RAIL 5
3.555 4,555 T §
.269 o
5.937 [“” ~
INACTIVE STILE (MEDIUM) @ INACTIVE STILE (WIDE) @ MID RAIL 2
7.500 il
1.460 Ol
085 K s
>
212
L_/———\_.._I [o2]
ASTRAGAL W'STRIP ADAPTER g
—e fo— 125 2 .
B &
£ <
- s 5
drawing no.
19—41F
@ BOTTOM RAIL (sheet 14 of 15)




1=1/2" X 1-1/2" X 1/4"

ALUM PLATE
3/8" THREADED ROD
WITH NUT /
>L\1 /9@
A
L ;i
~HL

N

LEAF TOP CORNER

1-1/2" X 1=1/2" X 1/4"
ALUM PLATE

3/8” THREADED ROD
WITH NUT

@

/
\é/
X 7

T

LEAF BOTTOM CORNER

~

\ FRAME (NARROW) TOP CORNER

FRAME (STD.) TOP CORNER

2) #14 FH/W
MACHINE SCREWS W

MAC (ZE) féng
ACHINE SCREW 3-1/2" X 2-1/2" X 1/8"
\ @ ALUP&/ ANGLE / / N .
(2) #14 FH
MACHINE SCREWS \
/
W (i% FRAME (CON. CL.) TOP CORNER
L
00
e

FRAME (STD.) BOTTOM CORNER

U

a
f
)

|

COMP—ANL\19—41F—TLI)

(C.A.N. 3538)

FAX. (305) 2626978

ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33473
TEL. (3085) 264-8100

N.W., Suite G
Fax.

INC.

3056 Walker Ridge Dr.
Walker, Ml 49544
Tel. 800—-866—2227

TUBELITE

J[ STANDARD ALUMINUM OUTSWING DOOR (LM..) [ AL-FAROOQ CORPORATION

by description

(revisions:
nol date

05-10-19

=4
z
=
2z

scale: 1/4”

chk. by:

date:
dr.

drawing no.

19—41F
sheet 15 of 15)




